SH4FEHERERE (T4 FEEAFZLELRE)
2 = R4
B |8 B | mene 1 520 Rl 8 ¥ # :
x1-2| 3 |®21-2| #8m3 | xx1 | 2 | xx3 | 21 | 32 | B3 |estuax T
B o HZE 2 2 2
s B X 1| 2 3 3
w B E #E 4 3 3 2 2 3 3 3 2 2 2 4.6
% % @ @ 4 0
HTlE E % B 4 0
EEEE A 3 2 2 3 3 3 3 3 0,5,6
® E i 3 3 0,6 |FREEMHE
M B % & 2 2 2 2 2 2| 2ERMREER
B = e % 3 AMAA[IMAA[2MAA| 4 | 4 | 4 | o4 |ETBAKE
b3 ,\ RIZMIBIER
R 2 2 ~
FE = ARREREREE
R £ R R 3 2@ | 2H AMAA|4M4A | AWAA 04,6 |imoess-(FiHEe
N *) 2 2 2 BREREET 515
NI H 2 20 | oW 0.2 |&IF3ERMIZH
R [ma - &% 2 0 |KEEES
n R # R® 4/\ V.VAN VIVAN 0,4 |F#&EBRERHB
% ¥ 1] 4 1 3 3 2 2 3.4 |ZREBRICEE
% = m 3 1 1 3 3 | 014 |(BELEHLT
5 = N > 5 *EIBRIZER
s H ¥ B| 2 1 1 1 1 1 1 1 1 1 1 2
m (B % C| 2 2 2 2 2 2
Mg EI 3 3 3 3 0,3 |F&HBEHEB
HEHEIL 1 1 2 2 0,1,2 |FREZREFREB
MEFEHED 2 0,2 |F&KREBERHB
BHEHEREA AV 1V 0,1 [|#&HBEHEB
BMEHERB 1V 1V 1V 0,1 |=##&ERERB
o B OE OB 2 2 2 [(ERLGLEER
) | 4 3E | 3W AR | 40 | 4m 0,7 |EMEMBN LR
It = & R 2 2 2 2 2 2 |EE
1t =l 4 2 2 4 4 4 0,6 |-¥E-4¥323
H £ 9% E | 2 2 2 FiiRER
# (£ wml 4 3H | 3H AR | 4@ | 41 0,7
h ¥ E B 2 0
Hh 2l 4 0
a5 B R OA 2 2 2 0,2 |FHKEBERB
& HE H B 2 2 2 0,2 |F#&E{EFEEB
RIE 1K | 7~8| 3 2 2 2 2 2 2 2 2 2 2 7
*E (& '’ 2 1 1 1 1 1 2
S 1| 2 20 0,2
£ fif 1] 2 20 0,2
2 @& 1| 2 20 0,2
w | B B B R 10 10 0,1 [|#&HBEHEB
1?1 x 1 B =® 10 10 0,1 [F&REBERB
E & FE =® 10 10 0,1 |F&XEBERAB
5 X B i 101V 0,12 |=&BERE
x i 4% i 101V 0,12 |ZK&%ZERHE
g &5 % # 101V 0,1,2 |*&%HERAE
HE1ch-vav 1| 3 3 3
HE11ch-v3v 0| 4 4 4 4 4 2
5\ FEEE1azh-vavIl| 4 4 4 4 4 4 4 4
= wE-RBRI| 2 2 2
£ RO 2 0
T laE-xmm 2 0
Practical English 2 2 2 2 2 2 0,4 |Z¥&HREFRAE
Advanced English 2 2 2 2 0,4 |#¥HREREHE
5 ® OE OHE B 2 2 2
REEBRHE 101V 0,12 |[=#%BEHE
] 1| 2 2 2 2 2 2
Bl (E W m| 2 0
T R OFE R 1V 1V 1V 1V 1V 1V 0,1 |F#&EBERB
BHERER 0
BU 0w 7 % o~5 0
ait 31 30 30 30 30 32 32 32 32 32 32 93
BEMLTERORRN (BEER) 1 2 2 2 2 3
R—LJL—LEE 1 1 1 1 1 1 1 1 1 1 1 3
B YBERR 33 33 33 33 33 33 33 33 33 33 33 99
OkY 18 ||BEWR. A O|ZFR A QO|FA RL [RARKL ||ERAVIER A, |[RERAVIERAVE |[ERVE |ER. VK
ﬁi: % Ba#ER g;ﬂﬁﬂrﬁ %;)Rﬁiﬁ %1%45% %1#45% %;}Rﬁiﬁ ]C;—LEV:;;Q %;}Rﬁiﬁ g{ﬁiﬁ% %1#45:1% g_\]ﬁiﬁi%




A
T

MAFEHERERR (T2, SFERAFER)

2 = R4
w4 |7 A |mens) 134 KA ki _
X1-2| X3 | #1-2 X1 1 2 BEEMHK &
E i ¥ & 4 5 5
B K xX Al 2 0
I K X B| 4 3 3 2 3 2 2 4.6
iE oy :::} A 2 0
EHE B[ 4 3 2 3 3 3 3 4.6
% E E & 1 02 |FREEHRE
H K OB A| 2 2 2 "WHE. ARBEE23
o[ R = B| 4 3H |31 7l | 0,7 ﬁ%ﬁcﬁisﬁm
BB X & Al 2 0 [338BBEFARRTH
BB & = B| 4 3M24 [3M2A[ 24 AMa~ 45 | 4~ 0.6.7 | e s
2ol = Al 2 0 |2B4E3FERARE
#h ® B[ 4 M2/ \[3m2A] 2/ AM4N AN | AN 0,6,7 |F&EE
H R # £ 2 2 2
NI [ B 2 2N\ [ 2A 0,2
R ki - &% 2 0
N R 8 % 4 VVAN 0,4 |F&EZEEEB
£ = I 3 2 2 '%{l?_]ﬂiﬁi'“—?—‘ﬂ’é@
% = 0] 4 | 2 | 3 [ 38 | 1 [ 1 35 | s
# —a mf 5 3 4 0,3,7 |E#®I==HE
oo = Al 2 2 2
T B[ 2 3 3 2 2,3
B E R 3 3 4 0,34 |FREFZERHE
HEHEL 2 2 2 2 0,2 |#&HBEHEB
MEHBED 0,2 |F&REERB
BN 2 2  |‘ERAGLEHEE
w B 4 3N 4N | 4m 0.7 |RHENSRERE
it % HE B 2 2 2 2 2
it =] | 2 4 4 0,6 -%ii-imliz,ﬁ
£ B 2 @m 2 2 2 |REEE
]|« Wl 4 €] | 40 40 0,7
Hh ¥ E B 2 0
Hh ¥ 4 0
w e m®EHE A 2 2 2 0,2 |#&EFEREB
e ®EFEB 2 2 2 0,2 |##&EZEEEB
RIE 1K |7~ 3 2 2 2 3 3 3 8
*E (& el 2 1 1 1 1 2
g O 1| 2 20 0,2
ES it I| 2 20 0,2
g & 1| 2 20 0,2
w |B B B R 10 10 0,1 [|#&FBEHEB
11; x 1 B =® 10 10 0,1 [F&REBERB
E & FE =® 10 10 0,1 |#&E&XEHEB
R 02 |sesesiy
EE - 0,2 |#KHBEREB
£ & ¥ i 0,2 |ZEKEBERHE
1312h-Y3VEEE 3 3 3
1ach-YvEEL| 4 4 4 4 4
& |azazhr-vavEBEW| 4 4 4 4 4
E [ZEXRBE I| 2 3 3
mOEERB O 4 0
Practical English 2 2 2 2 2 0,4 |Z#&HEFRAE
Advanced English 2 04 [*&RBEHEB
X OE E B 2 2 2
R IR E # & 4 0
E ([£FFH1> 4 0
REEBHE 02 |FREEHRE
1543 2 EEHW 2 0
R0 RFE 2 2 2 2 2
&5t 33 31 31 31 32 32 32 96
HREMTIERDORRM (KBS 0 2% 2% 2% 1 1 1 3
h—LIL— LGEE 1 1 1 1 1 1 1 3
W= Y IRERR 34 34 34 34 34 34 34 102
O&Y 18 [|ZW. A O|FR A O|FA RK EY WS ZE. AL |[ER ALK |BE AL
Ba#ER LU IRB |KY1RE |YIREE DRESY=E:S YIREE |V IREBEZE |Y 1REBE
EBIN PESIN R iR iR R iR
IREH [XTHRER |XIMREM |XIMKREW
IR R DS IER O | TIR R DR | IRIF R DR
[ 1% 20h3E Fajj 1%& Esﬁj 1%& fajj 1%&
w % Rt i e il
(14£20h,2 | (14E20n,2 | (14E20h,2
11 F12H F12H
15h) 15h) 15h)




